BK Allians, Halmstad
Halmstadssilvret silverbarometer 2013-09-28

Partavling, 15 bord, 30 par. Antal brickor: 42. Medel: 588.2.

Plac Par Poéng % Namn MID Klubb
1 13 7059 60.03 Mikael Rimstedt - Magnus Eriksson 88184 1170 Harplinge BK
2 20 690.8 58.74 Per Andersson - Jan Nilsson 17111 11991 BK Albrekts - BK Falkenberg
3 23 670.6 57.02 Stellan Andersson - Einar Jénsson 2726 2732 BK Falkenberg
4 8 666.9 56.71 Bo Gisslander - Séren Axelsson 51029 8192 Bredaryds BK
5 14 658.6 56.00 Torleif Hagg - Villy Havasi 12267 89205 BK Albrekts
6 25 6484 55.13 Marie Ynner - Jan Wistrom 38957 4167 BK Allians, Halmstad
7 10 636.6 54.13 Vera Gemrud - Per-Ingvar Skoglund 23764 2734 BK Allians, Halmstad
8 21 634.8 53.98 Jonas Andersson - Sune Lobo 52637 9428  Anderstorps BK
9 22 627.1 53.33 Sven Landervik - Carl Bjork 13030 55384 BK Allians, Halmstad - SPF Kvarnens BK
10 27 6244 53.10 PerJansson - Lars Kennethsson 2485 17074 Anderstorps BK
11 29 621.9 52.89 Anders Norin - Sabine Dellien 8191 82259 BK Allians, Halmstad
12 7 617.6 5251 Ake Karlsson - Birger Johansson 39570 8490 BK Allians, Halmstad
13 24 617.1 52.47 Mikael Martensson - Ulf Aronson 27238 2515 BK Allians, Halmstad
14 2 611.4 51.99 Per Sintorn - Nils Svensson 36301 26780 BK Albrekts
15 3 608.9 51.77 Svante Hallén - Christer Hedborg 80464 11610 BK Allians, Halmstad
16 11 599.1 50.94 Torgny Carlsson - Ulla Zandin 10237 92017 BK Lovet - BK Albrekts
17 1 576.9 49.06 Lars Adie - Roger Saarva 51619 93734 BK Allians, Halmstad
18 6 575.9 48.97 Jan-Erik Helmersson - Jérgen Neldemo 4243 18660 Veddige BS
19 5 563.4 47.91 Benita Hagnestam - Staffan Bengtsson 89424 40962 BK Allians, Halmstad
20 28 558.1 47.46 Rikard Nilsson - Bengt-Olof Johansson 42591 18030 Kinnareds BK - Anderstorps BK
21 4 553.1 47.04 Bertil Nilsson - Jan Nilsson 9916 88225 BK Allians, Halmstad
22 26 5519 46.93 Jonny Aronsson - Jens Ahslund 88229 88230 Hasslovs BK
23 16 5446 46.31 Jan-Inge Troedsson - Olle Johansson 13420 30273 BK Falkenberg
24 12 539.1 45.84 Ove Olsson - Kenneth Johansson 10903 11997 BK Falkenberg
25 30 524.1 4457 Tommy Johansson - Roland Svensson 16141 92781 Laholms BK
26 18 509.4 43.32 Lena Friberg-Davidsson - Britt Cufiat 7361 7921 BK Albrekts - Varé BK
27 17 4949 42.09 Britt Bengtsson - Leena Martensson 5578 27890 BK Allians, Halmstad
28 9 4821 41.00 Gunilla Karlsson - Monica Hedskdld 88955 92026 BK Albrekts
29 19 4749 40.38 Bengt Larsson - Hans Goran Lindgren 35169 48661 Laholms BK - BK Allians, Halmstad
30 15 4571 38.87 Bernt-Olof Bengtsson - Lars Hakansson 23282 12959 BK Allians, Halmstad
1 4 E653 Basta kontrakt 2 & E6542 Basta kontrakt 3 4107 Basta kontrakt
Nord v K9 4v N =420 Ost v52 4v O =-420 Syd v75 6NT V =-1440
Ingen + D52 NS + K1052 ov + DKn1084
#ED95 & ¢ v & NT *E9 & ¢ v & NT #DKn65 & ¢ v & NT
4D1082 4Kn94 N 107 108 9 49 4 K1087 N39 386 4 E43 4 KD52 N35111
v8 vDKn10 S 8 6 108 8 v EK109743 v DKn S 39386 vE109842 vKKn S35111
¢ Kn987 ¢ EK64 035153 + Kn8 +6 O 103 105 5 ¢E5 4632 O 9 8 121212
#Kn762 #843 V35153 #842 #KD10753 V 103 105 5 #E10 #K873 vV 9 8 121212
& K7 &« DKn3 4 Kn986
v E765432 v 86 v D63
+ 103 ¢+ ED9743 + K97
#K10 #Kn6 %942
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 17 4v N+1 ¢ A 450 270 10|14 17 3¢ S+1 v 130 280 00| 8 25 3NO-1 *7 100 28.0 0.0
16 15 4v N+1 vQ 450 270 10| 6 25 5vDV-1 +¢2 100 240 40| 1 3 4vV+l +Q -650 17.0 11.0
5 26 4y N= + K 420 16.0 12.0|11 20 5¢vDV-1 ¢2 100 240 40| 6 27 4vV+1l ¢Q -650 17.0 11.0
6 25 4v N= ¢ A 420 16.0 12.0|30 1 5¢vDV-1 ¢5 100 240 40| 7 26 4vV+1l +Q -650 17.0 11.0
10 21 4y N= ¢ A 420 16.0 12.0|10 21 540-1 4Q 50 200 8014 19 4v V+1l +Q -650 17.0 11.0
11 20 4v N= ¢ A 420 16.0 12.0|27 4 5¢ S-1 vK -100 18.0 10015 18 4v V+l1 +Q -650 17.0 11.0
13 18 4y N= ¢ A 420 16.0 12.0|29 2 5¢DS-1 vA -200 16.0 12.0(17 16 4v V+1 &Q -650 17.0 11.0
27 4 4v N= +K 420 16.0 12.0| 7 24 4v V= 2 -420 9.0 19.0|20 13 4y V+1 ¢Q -650 17.0 11.0
28 3 4vy N= ¢ A 420 16.0 12.0|13 18 4v V= ¢5 -420 9.0 19.0|24 9 4v V+l ¢Q -650 17.0 11.0
29 2 4v N= ¢ A 420 16.0 12.0|16 15 4v V= +K -420 9.0 190|29 4 4vV+1l ¢Q -650 17.0 11.0
30 1 4v S= +8 420 16.0 12.0|19 12 4v V= +K -420 9.0 19.0|30 2 4y V+1 ¢J -650 17.0 11.0
23 8 3NN= +6 400 6.0 220|23 8 4v V= s A -420 9.0 19.0|10 23 4v V+2 ¢Q -680 4.0 24.0
7 24 6y N-2 ¢ A -100 20 26.0|28 3 4v V= aA -420 9.0 19.0|11 22 4v V+2 ¢Q -680 4.0 240
9 22 6y N-2 ¢ A -100 20 26.0| 5 26 4v V+2 &A -480 1.0 27.0|28 5 4vV+2 ¢Q -680 4.0 24.0
19 12 6v N-2 ¢ A -100 20 26.0| 9 22 4v V+2 &A -480 1.0 27.0|12 21 4y V+3 ¢Q -710 0.0 28.0
4 & Kn43 Bésta kontrakt 5 & D7 Bésta kontrakt 6  ED987 Bésta kontrakt
Vast v Kn10863 3¢ V =-110 Nord vD54 INTN =90 Ost v 642 3NT O =-600
Alla +5 NS + E987 ov + D107
#D963 & ¢ v & NT +D1064 & ¢ v & NT *104 & ¢ v & NT
4 E6 4 K8752 N7 4657 4965 «E104 N5 7777 oK 4Knl05432 N 4 4 4 4 4
v 975 vD2 S74657 vK8 v EKn97 S57777 vKnl1087 vE5 S 444 44
¢+ D94 ¢+ E10876 06 9475 +D643 +Knl0 O756 675 ¢ EKKN93 ¢4 09 9899
#EKn852 #10 V69475 #Kn972 #K853 V756675 *K65 #EDKn7 V99899
4 D109 & KKn832 46
v EK4 v 10632 v KD93
¢ KKn32 + K52 + 8652
*K74 &E #9832
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 19 34 O0-3 vA 300 280 00(29 6 3¢DO-3 #A 500 280 00|13 22 3NV-2 aA 200 270 10
30 2 2aV-2 vT 200 2600 20|25 10 INN+3 %6 180 260 20|29 6 44 0-2 vK 200 270 1.0
29 4 29y N+1  &T 140 240 40|16 19 INV-3 4Q 150 240 40| 2 4 440-1 vK 100 19.0 9.0
10 23 INS+1 &2 120 220 6.0 8 27 2NN= 5 120 220 6.0 7 28 3NV-1 v6 100 19.0 9.0
8 25 24 0-1 vA 100 190 90| 2 4 24 S= &9 110 16.0 12.0| 8 27 44 O-1 vK 100 19.0 9.0
20 13 24 O-1 vA 100 19.0 9.0| 7 28 2v S= &7 110 16.0 12.0|11 24 3NV-1 a7 100 19.0 9.0
17 16 INS= *2 90 16.0 12.0| 9 26 24 S= 45 110 16.0 12.0|16 19 3NV-1 v2 100 19.0 9.0
12 21 2v N-1 &T -100 13.0 15.0(13 22 24 N= a2 110 16.0 12.0(25 10 3NO- &9 100 19.0 9.0
24 9 2vS-1 aA -100 13.0 15.0|21 14 24 S= &7 110 16.0 120| 1 5 3NV= v6 -600 8.0 20.0
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1 3 240= vA -110 9.0 19.0|18 17 INV-2 +Q 100 100 18.0| 9 26 3NV= &T -600 8.0 20.0
6 27 3¢ V= vJ -110 9.0 190|130 3 INN= *J 90 8.0 20.0|12 23 3NV= &T -600 8.0 20.0
7 26 2vS-2 *4 -200 4.0 240|115 20 2¢ O-1 &A 50 6.0 22.0{15 20 3NO= +5 -600 8.0 20.0
11 22 3v S-2 aA -200 40 24.0|11 24 INV= +Q -90 40 240|118 17 3NO= &9 -600 8.0 20.0
28 5 2vS-2 s A -200 40 240| 1 5 2NN-1 &3 -100 1.0 27.0(21 14 3NV+1 7 -630 1.0 27.0
15 18 3v N-3 &T -300 0.0 28.0|12 23 2NN-1 +J -100 10 27.0{30 3 3NV+1 v2 -630 1.0 27.0
7 4852 Béasta kontrakt 8 48742 Béasta kontrakt 9 4 EK Basta kontrakt
Syd vKn73 44 V =-620 Vast v EK6 54 V =-450 Nord v EKn54 44 N D -3-500
Alla +108762 Ingen ¢ Kn5 ov ¢ Kn109872
*63 & ¢ v & NT #ED106 & ¢ v & NT *8 & ¢ v & NT
4 E43 « KD76 N37 336 46 «EKDKNn109 N 6 2 3 2 2 4 Kn #9542 N37 376
v E1092 v D86 S37336 vKnl095 vD3 S6 2322 vD109863 v K7 S37375
¢D +93 O 106 9 107 ¢ D42 ¢ EK1063 07 119 119 ¢ 64 ¢ EK3 09 5 105 7
#Kn10742 #KD95 VvV 106 9 107 #KKNn732 - vV 7 119 1110 #Kn743 #EKD9 vV 9 5 105 7
4 Kn109 453 «D108763
v K54 v 8742 v2
¢ EKKn54 ¢ 987 + D5
#E8 #9854 #10652
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
13 24 INS= &5 90 260 20| 2 6 640-1 &9 50 26.0 20|27 12 44DS= +6 590 28.0 0.0
22 15 INS= *2 90 26.0 20|12 25 64 O-1 +9 50 26.0 20|20 19 24DS= 5 470 26.0 20
26 11 INS= v2 90 26.0 20]|22 15 4NO-1 *4 50 260 20| 2 8 440-3 *Q 300 240 4.0
1 7 INS-1 &4 -100 17.0 110 3 5 34 O+2 45 -200 20.0 8.0(17 22 3NO-2 *Q 200 220 6.0
2 6 INS-1 *4 -100 17.0 11.0( 9 28 14 O+4 &5 200 200 80| 9 1 4v V-l +J 100 19.0 9.0
3 5 INS-1 &5 -100 17.0 11.0(18 19 1a O+4 &9 200 20.0 8.0(30 5 4v V-1 oK 100 190 9.0
10 27 INS-1 &) -100 17.0 110 1 7 44 O+1 7 -450 10.0 18.0(13 26 34DS-1 vQ -100 16.0 12.0
14 23 INS-1 *2 -100 17.0 11.0( 8 29 44 O+1 +9 -450 10.0 18.0(11 28 2NO= v2 -120 14.0 140
17 20 INS-1 3 -100 17.0 11.0(10 27 44 O+1 +9 -450 10.0 180 4 6 3v V+1l 4A -170  11.0 17.0
8 29 44 0= ¢ A -130 9.0 19.0|13 24 44 O+1 o7 -450 10.0 18.0(18 21 2v O+2 +Q -170  11.0 17.0
18 19 3« V+l +¢6 -130 9.0 19.0|14 23 44 O+1 &5 -450 10.0 18.0(10 29 3¢DN-2 #A -300 70 21.0
16 21 24 O+2 +A -170 50 23.0|16 21 54 O= *9 -450 10.0 18.0(15 24 34DS-2 +6 -300 7.0 21.0
30 4 14 0O+3 K -170 50 23.0|30 4 44 O+1 &5 -450 10.0 180 3 7 4v V= oK -620 4.0 24.0
9 28 3¢ S-3 +Q -300 20 26.0|17 20 3NV +2 8 -460 20 26.0|14 25 4vyDV=¢J -790 2.0 26.0
12 25 4v V= 2 -620 0.0 28.0|26 11 44 O+2 &3 -480 0.0 28.0|23 16 3vyDV+1 +¢J -930 0.0 28.0
10 & K1052 Bésta kontrakt 11 a74 Bésta kontrakt 12  DKn107 Bésta kontrakt
Ost v Kn10764 3v O =-140 Syd v104 6NT V =-990 Vast vE106 34 N =140
Alla +85 Ingen ¢ Kn742 NS 97
#Kn8 & ¢ v & NT #EDKnN92 & ¢ v & NT +D976 & ¢ v & NT
49863 oE N353665 4 E53 «KDKn108 N 5 6 0 0 O 4962 +83 N9 5597
vEKD  v9853 $353635 v EKDKn65 v73 S$56 000 vKn73 v D9842 $95597
¢ K3 ¢ D1072 O 107 9 6 8 ¢ E9 ¢ K65 06 7 11118 ¢ ED108 ¢ KKn65 047746
#E1042 #K973 vV 107 9 6 8 *K4 #1076 vV 8 7 121212 #E108  #Kn2 V477486
« DKn74 # 962 « EK54
v2 v 982 v K5
¢ EKn964 +D1083 ¢ 432
»D65 #853 #K543
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
11 28 2v V-5 s A 500 280 00| 3 9 44 0+1 &5 -450 269 11|14 27 4v O-3 s A 150 28.0 0.0
20 19 3+ V-2 vJ 200 26.0 20|19 22 44 O+1 8 450 269 11| 3 9 24 N+1 v2 140 17.0 11.0
4 6 3NV-1 v6 100 21.0 70(10 2 5vV+l #A 480 226 54| 5 7 24 N+1 v4 140 17.0 11.0
9 1 3NV-1 v4 100 21.0 7.0(14 27 54 V+1  #A -480 226 54(10 2 34 N-= v2 140 17.0 11.0
10 29 3NV-1 +8 100 21.0 70|11 1 54V+2 ¥T -510 1511 12912 29 34 N= v8 140 17.0 11.0
17 22 3NV-1 vJ 100 21.0 7.0(12 29 54 V+2 ¢4 -510 151 12915 26 34 S= a2 140 17.0 11.0
3 7 2NV= +8 -120  11.0 17.0(15 26 4v V+3 a7 -510 1511 129(18 23 24 N+1 v8 140 17.0 11.0
13 26 2NV = +8 -120 11.0 17.0(24 17 44 O+3 44 510 1511 12.9(19 22 24 S+1 42 140 17.0 11.0
14 25 2NV = v4 -120 11.0 17.0(28 13 4v V+3 ¢4 -510 151 12921 20 34 N= +6 140 17.0 11.0
23 16 2NV = v4 -120 11.0 17.0(16 25 3NO+4 +38 -520 8.6 19.4)|24 17 34 N= 3 140 17.0 11.0
27 12 2NV = vJ -120 11.0 170 5 7 6v V= &A -980 54 226|128 13 34 N= 3 140 17.0 11.0
30 5 2NV= +8 -120 11.0 17.0(18 23 6v V= &A -980 54 226| 4 8 3v0O-1 oK 50 5.0 23.0
18 21 2NV +1 v6 -150 40 240| 4 8 6NV+1 &7 -1020 11 26911 1 INV- +Q 50 5.0 23.0
2 8 5&V= vJ -600 10 27.0{30 6 6NV+1 &3 -1020 11 269|16 25 2v O = s A -110 1.0 27.0
15 24 3NV= v6 -600 10 27.0|21 20 A+/A+ 16.8 16.8|30 6 2v O= oK -110 1.0 27.0
13 49 Bésta kontrakt 14  KD843 Bésta kontrakt 15 & EDKn Bésta kontrakt
Nord v 1085 5& N D -2 -500 Ost v DKn1084 5¢ O =-400 Syd v DKn1085 5& V D -2 300
Alla + 1095 Ingen + Kn8 NS + EKn102
#ED8643 & ¢ v & NT *6 & ¢ v & NT *8 & ¢ v & NT
4 KKn852 4 ED107 N9 7 313 4EKNn75 410 N31563 #9765 « K104 N 4 9 106 7
v 432 v EKKn76 $97313 vE3 v K976 S3156 3 vK v972 S 4 9 106 7
73 ¢ K82 O 4 5 10106 ¢9763 ¢ ED102 O 10118 7 9 73 ¢ K854 094376
#KKn9 *7 V 4 5 10106 *EK8 #Kn1075 vV 10118 7 9 #EKKN1097 %652 V94376
4643 4962 « 832
vD9 v52 v E643
+ EDKn64 ¢ K54 + D96
#1052 #D9432 »D43
Par Kontr ut Res Poang Par Kontr ut Res Poéang Par Kontr Ut Res Poéng
19 24 4v O-3 &T 300 28.0 0.0|17 26 24DN-1 &T -100 28.0 0.0 1 15 54DV-2 vQ 300 28.0 0.0
4 10 44 V-1 9 100 200 8.0(22 21 24DS-2 #A ;300 25.0 3.0 5 11 2¢v N+2 %6 170 23.0 5.0
11 3 4e V-1 oT 100 20.0 80|30 7 24DS-2 &A ;300 25.0 30| 7 9 3v S+l 7 170 23.0 5.0
13 1 4e V-1 ¢+5 100 200 80| 6 8 3NV= vQ -400 17.0 11.0({14 2 3v N+l %6 170 23.0 5.0
16 27 44 O-1 3 100 200 80|11 3 3NO= »6 -400 17.0 11.0(16 29 3v N+1 %6 170 23.0 5.0
20 23 44 V-1 *T 100 200 80|13 1 3NV= vQ -400 17.0 11.0(17 28 5% V-3 s A 150 18.0 10.0
25 18 44 V-1 *A 100 20.0 80|15 28 3NV= a4 -400 17.0 11.0| 6 10 3v N= &3 140 15.0 13.0
30 7 44 V-1 *A 100 20.0 80|25 18 3NV= oK -400 17.0 11.0(26 19 3v N= *6 140 15.0 13.0
5 9 4eV= *A -620 8.0 20.0|29 14 3NV= vQ -400 17.0 11.0(20 25 4% V-2 vQ 100 12.0 16.0
6 8 4e V= +9 -620 80 20.0| 5 9 3NV+1 4 -430 9.0 19.0|13 3 4y N-1 *6 -100 6.0 22.0
12 2 4e V= *A -620 80 20.0|12 2 3NO+1 &2 -430 9.0 19.0|18 27 4y N-1 *2 -100 6.0 22.0
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22 21 44 V= &A -620 8.0 20.0(16 27 3NV +2 vQ -460 40 24021 24 4v N-1 &6 -100 6.0 22.0
29 14 4v O= ¢ A -620 8.0 20.0(19 24 3NV +2 43 -460 40 24023 22 4v N-1 v2 -100 6.0 22.0
15 28 4v O+1 &T -650 1.0 27.0|20 23 3NV +2 45 -460 40 240|30 8 4v N-1 &2 -100 6.0 22.0
17 26 4v V+1 *A -650 1.0 27.0| 4 10 2¢DN-5 &J -1100 0.0 28012 4 5v N-3 &6 -300 0.0 28.0
16 D732 Basta kontrakt 17 452 Basta kontrakt 18 «Kn9 Basta kontrakt
Vast v10 3¢ V =-110 Nord v 872 4v O =-420 Ost vED7643 5& O D-1100
ov + E1083 Ingen + D6 NS +D4
#ED96 & ¢ v & NT #EK10753 & ¢ v & NT #D105 & ¢ v & NT
4 EKKN9 1065 N8 47605 «ED1O 4986 N6 2242 4 EK874 465 N 3 5 106 5
vDKn74 vEK S84765 v KD5 vE1043 S6 2242 v 985 v- S 3 5 105 5
¢ 752 ¢+ KDKn94 O5 86 6 8 ¢ EK105 ¢ Kn984 O 7 11109 7 ¢+ Kn3 ¢ K7652 O 108 3 7 6
#385 #1073 V5966 8 &#Kn94  #86 vV 7 11109 7 *E92 #KKn7643 V 108 3 7 6
484 & KKn743 4 D1032
v 986532 v Kn96 v KKn102
+6 732 + E1098
#KKn42 +D2 »8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
115 3NO-1 LY 100 240 40(15 3 3NV-3 *A 150 280 0.0(18 29 4v N+1 %2 650 28.0 0.0
13 3 3NO-1 *6 100 240 40| 2 16 3NV-2 &5 100 240 40(21 26 54DO-3 T 500 260 20
20 25 3NO-1 &5 100 240 40(13 5 4v0O-2 *0Q 100 240 40| 6 12 44DV-2 4] 300 210 7.0
21 24 3NO-1 LY 100 240 4.0(18 29 3NV-2 &3 100 240 40| 8 10 64DO-2 T 300 210 7.0
23 22 3NO-1 49 100 240 40| 7 11 INV= &5 -90 20.0 8.0|24 23 44DV-2 VA 300 210 7.0
7 9 2¢vS-1 4 A 50 17.0 11.0|17 1 3¢ V+1 #A -130 17.0 11.0(27 20 54DO-2 T 300 210 7.0
14 2 2vS-1 s A -50 17.0 11.0|30 9 4e¢ V= &K -130 17.0 11.0(13 5 2v N+3 46 200 16.0 12.0
26 19 3v S-2 s A -100 14.0 140(21 26 3v O = *0Q -140 13.0 150 7 11 54 0O-3 &8 150 13.0 15.0
5 11 INO+1 &2 -120  12.0 16.0(27 20 3v O = LYo -140 13.0 150(14 4 44 V-3 vA 150 13.0 15.0
16 29 3v S-3 2 -150 10.0 18.0(19 28 INV+4 &A -210 100 180(30 9 3v N= &4 140 10.0 18.0
6 10 4vyDS-3 4A -500 8.0 20.0| 8 10 3#DN-2 49 -300 8.0 200| 2 16 44 0O-2 vT 100 7.0 21.0
12 4 3NO+1 5 -630 3.0 250| 6 12 3NV= &K -400 50 23.0(22 25 5#DO-1 ¢K 100 7.0 21.0
17 28 3NO+1 v6 -630 3.0 25.0|14 4 5¢ V= &A -400 50 23.0|17 1 4&V-1 v2 50 3.0 25.0
18 27 3NV +1 a2 -630 3.0 25022 25 4v O= *Q -420 20 26.0(19 28 5#0-1 ¢ A 50 3.0 25.0
30 8 ANO+1 +6 -630 3.0 25.0(24 23 3NV +1 *A -430 0.0 28.0(15 3 5¢vDS-1 &A -200 0.0 28.0
19 « D865 Basta kontrakt 20 4943 Basta kontrakt 21 « K4 Basta kontrakt
Syd vED764 6¢ V =-1370 Vast v5 6NT V =-1440 Nord v 10843 44 O D -2 300
oV ¢+ Kn7 Alla 49654 NS ¢ E3
*64 & ¢ v & NT #KKn964 & ¢ v & NT #108654 & ¢ v & NT
21072 #EK43 N11621 # K10865 & ED2 N4 141 1 [4DKnl098632 475 N 8 6 103 9
v10985 v- S11621 v Kn32 v EK6 S41411 |v95 v6 S 7 6 103 9
¢ 104 ¢ EKD953 O 12127 118 2 ¢ EK1073 O 9 119 1211 |[¢Kn7 ¢ K10954 057 283
#KKn98 #E32 VvV 12127 118 D732 &E8 V 9 119 1212 [»7 #EKDKnN2 V57283
& Kn9 & Kn7 s E
v KKn32 vD109874 v EKDKn72
+ 862 + DKn8 + D862
#D1075 #105 %93
Par Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 13 3NV-1 v5 100 23.0 50(20 29 64 V-2 v5 200 270 10| 4 18 5¢DS= ¢J 750 28.0 0.0
14 6 6¢ O-1 v3 100 230 50(22 27 6NO-2 &T 200 270 10(19 3 4e V-1 vT 50 25,0 3.0
15 5 3NV-1 v6 100 230 50(16 4 2NO+3 @7 210 240 4.0(29 22 44 V-1 v6 50 250 3.0
18 2 3NV-1 v6 100 230 50(14 6 44 0= +Q -620 220 6.0(24 27 5v S-1 &7 -100 220 6.0
19 1 3NV-1 v4 100 23.0 50(19 1 3NO+1 a7 -630 20.0 8.0 9 13 34 V+1 v6 -170  19.0 9.0
23 26 6¢ V-1 +6 100 230 50| 7 13 ANO+1 &T -660 16.0 12.0(30 11 34 V+1 v4 -170  19.0 9.0
3 17 4¢ O= v4 -130 16.0 120 8 12 3NO+2 v7 -660 16.0 12026 25 5vDS-1 &7 -200 16.0 12.0
28 21 4¢ O+1 v3 -150 14.0 14.0(28 21 3NO+2 7 -660 16.0 12.0( 8 14 4a V= v4 -420 8.0 20.0
20 29 4¢ V+2 vA -170  11.0 17.0(15 5 4a V+2 v5 -680 9.0 19.0|10 12 44 V= v3 -420 8.0 20.0
30 10 3¢ V+3 46 -170  11.0 17.0(18 2 44 O+2 4] -680 9.0 19015 7 44 V= v3 -420 8.0 20.0
22 27 3yDN-3 +A -500 8.0 20.0|23 26 44 O+2 +Q -680 9.0 19016 6 44 V= v4 -420 8.0 20.0
8 12 3NV +1 46 -630 5.0 23.0(30 10 44 O+2 +J -680 9.0 19.0|17 5 44 V= vT -420 8.0 20.0
25 24 3NV +1 a5 -630 50 23.0| 3 17 3NO+3 +8 -690 40 240|20 2 44 V= v4 -420 8.0 20.0
16 4 3NV +3 &6 -690 20 26.0|25 24 64 V= v5 -1430 20 26.0|23 28 44 V= v3 -420 8.0 20.0
9 11 3INO+4 &7 -720 0.0 280| 9 11 6NO= v9 -1440 0.0 28.0(21 1 44 V+1 *4 -450 0.0 28.0
22 4 D974 Basta kontrakt 23 &K Basta kontrakt 24 +ED8 Basta kontrakt
Ost v DKn97 ANT O =-630 Syd v E86 4v S =620 Vast v 10432 3NTV =-400
oV ¢+ E54 Alla + KD10873 Ingen + K83
«D2 & ¢ v & NT #KD3 & ¢ v & NT #875 & ¢ v & NT
«E8 K3 N2 276 2 4 Kn108752 «D3 N 6 10106 9 & K62 & Kn53 N35554
vK3 vE52 S2276 2 v42 vKn975 S 6 10106 9 vD987 vKKn S35554
4108732 ¢ KDKn96 O 10116 7 10 ¢+ 4 ¢ EKn9 O5 3363 ¢ E1092 ¢ D5 09 88809
&#EK95 #1086 V 10116 7 10 #E942 #Kn865 V63363 &E9 #DKn10632 V 108 8 8 9
# Kn10652 « E964 10974
v 10864 vKD103 v E65
¢- 4 652 + Kn764
#Kn743 *107 *K4
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
10 12 64 O-1 aJ 100 270 10(10 14 3NS+1 &4 630 270 10| 5 19 3NO-1 a4 50 270 1.0
23 28 6¢ V-1 aJ 100 270 10(27 26 SNN+1 %6 630 270 10| 9 15 3NV-1 v3 50 270 1.0
16 6 2¢ O+3 &4 -150 240 40| 5 19 3NS= a2 600 21.0 70(20 4 INO= T -90 23.0 5.0
24 27 3NO= 45 -600 220 6.0 9 15 3NS= a2 600 210 70(27 26 INO= T -90 23.0 5.0
15 7 3NO+1 a2 -630 16.0 12.0({20 4 3NS= oT 600 210 70(24 29 340+= aT -110 20.0 8.0
19 3 3NO+1 &2 -630 16.0 12.0(21 3 3NS= aJ 600 210 7.0(21 3 INO+1 &7 -120  17.0 11.0
20 2 3NO+1 &) -630 16.0 12.0(16 8 3¢ N+1 4Q 130 13.0 15.0|30 12 2NV = v3 -120 17.0 11.0
21 1 3NV+1 vQ -630 16.0 12.0(17 7 3¢ N+1 4Q 130 13.0 150 1 23 INO+2 &7 -150 10.0 18.0
30 11 3NO+1 42 -630 16.0 12.0(22 2 3¢ N+1 4Q 130 13.0 15.0|11 13 INO+2 oT -150 10.0 18.0
8 14 3NO+2 42 -660 8.0 20.0|25 28 3¢ N+1 4Q 130 13.0 150(18 6 INO+2 T -150 10.0 18.0
9 13 3NO+2 v4 -660 8.0 20.0|11 13 34 V-1 + K 100 8.0 20.0(22 2 INO+2 T -150 10.0 18.0
17 5 3NV +2 +Q -660 8.0 200| 1 23 4v S-1 ¢+ 4 -100 5.0 23.0|25 28 INO+2 &T -150 10.0 18.0
4 18 3NV +3 v] -690 3.0 250(18 6 3NS-1 &2 -100 50 23.0|10 14 INO+3 46 -180 3.0 25.0
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26 25 3NO+3 &T -690 3.0 25.0|30 12 4v S-3 +6 -300 20 26.0|17 7 2NV+2 &8 -180 3.0 25.0
29 22 44DS-4 vK -800 0.0 28.0|24 29 3NDS-3 42 -800 0.0 28016 8 3NV= aA -400 0.0 28.0
25 4 KKn7 Basta kontrakt 26 4 DKn10 Basta kontrakt 27 4 Kn1087 Basta kontrakt
Nord v9 ANT N =430 Ost v K10532 54 O =-650 Syd vD4 3NT S =400
ov + K87653 Alla + Kn87 Ingen + DKn95
#985 & ¢ v & NT #K8 & ¢ v & NT #E82 & ¢ v & NT
4932 410864 N 8 105 7 10 4 EK7652 49 N53314 4 K3 D954 N9 9799
vDKn764 vK8532 S 8 105 7 10 v764 v EDKn8 S53213 vKn107 vK9852 S99799
+9 ¢+ D4 O5 386 3 + 105 ¢ EK932 O 8 1010118 ¢+ 10643 +387 O4 46 44
#EKN102 #D7 V53863 *62 *E97 V 8 1010118 #DKn63 #104 V44644
4 ED5 4843 4 E62
vE10 v9 vEG3
¢ EKn102 + D64 + EK2
*K643 #DKn10543 #K975
Par Kontr Ut Res Poéng Par Kontr Ut Res Poang Par Kontr Ut Res Poang
25 1 3NS+2 &) 460 280 00| 2 24 3NO-2 *Q 200 250 30|18 10 3NS+1 #Q 430 25,0 3.0
10 16 3NS+1 v4 430 2000 80|10 16 3NV-2 &K 200 250 30(20 8 3NS+1 &K 430 250 3.0
11 15 3NS+1 v6 430 200 8019 7 4v0O-2 *Q 200 250 30(23 5 3NS+1 3 430 250 3.0
17 9 3NS+1 vQ 430 200 80|22 4 3NO-2 *0Q 200 250 3.0(26 2 3NS+1 &6 430 25,0 3.0
21 5 3NS+1 vQ 430 200 80| 6 20 3NV-1 v3 100 19.0 9.0|11 17 3NS= vlJ 400 16.0 12.0
22 4 3NS+1 v] 430 200 80|12 14 2NO-1 *Q 100 190 9.0(12 16 3NS= &6 400 16.0 12.0
23 3 3NS+1 v3 430 200 80|25 1 34V+l v6 -170 16.0 12.0(13 15 3NS= 43 400 16.0 12.0
28 27 3NS+1 vQ 430 200 80|17 9 34V+3 v¥5 -230 14.0 140(27 1 3NS= *6 400 16.0 12.0
6 20 5¢ N= v5 400 10.0 18.0(18 8 3NV+l1l &Q -630 10.0 18.0(29 28 3NS= *Q 400 16.0 12.0
12 14 5¢ S= vQ 400 10.0 18.0|26 29 3NV +1 v3 -630 10.0 18.0(19 9 INS+1 +4 120 10.0 18.0
19 7 5¢ N= v3 400 10.0 18.0|28 27 3NO+1 v9 -630 10.0 180 3 25 3NS-1 vlJ -50 5.0 23.0
18 8 4¢ S= v4 130 50 23.0|11 15 44 V+1 4Q -650 6.0 22.0| 7 21 3NS-1 *Q -50 5.0 23.0
30 13 3¢ N+1  #2 130 50 23.0|21 5 44 V+2 4Q -680 20 26.0|22 6 3NS-1 vlJ -50 5.0 23.0
26 29 5¢ S-1 vQ -50 20 26.0|23 3 44 V+2 v5 -680 2.0 26.0|30 14 3NS-1 vlJ -50 5.0 23.0
2 24 3NN-2 v6 -100 0.0 28.0[30 13 44 V+2 ¢3 -680 20 26.0|24 4 3NS-2 +3 -100 0.0 28.0
28 410954 Basta kontrakt 29 482 Basta kontrakt 30 410964 Basta kontrakt
Vast v EK1096 3¢ V =-110 Nord v D85 44 O =-620 Ost v 109743 7NT O =-1520
NS ¢- Alla + KKn972 Ingen +98
#Kn952 & ¢ v & NT »K63 & ¢ v & NT *74 & ¢ v & NT
4Kn872 «D N4 4775 4 ED954 4K1076 N8 6 7 35 4 EKn872 4 KD N20200O0
vD75 vKn4 S447765 v K94 v 1032 S86 7 35 vKD2 v E86 S20200
¢+ DKn86 ¢ E10972 079557 ¢ ED103 ¢85 O5 6 6 108 ¢ EKKn6 ¢ 1043 O 1113111313
*K8 #ED1073 V89557 *2 #EKn75 V57 6 108 8 #EKKnN93 V 1113111313
# EK63 4 Kn3 453
v 832 v EKn76 v Kn5
+ K543 ¢ 64 ¢+ D752
*64 #D10984 #D10652
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 15 3v N= 4Q 140 270 10| 1 29 44 V-1 a2 100 2800 0013 17 6NO= 45 -990 28.0 0.0
23 5 3v N= 4Q 140 270 10|30 15 24 V+1 a2 -140 260 20(21 9 64 O+1 &2 -1010 26.0 2.0
7 21 29 N= +Q 110 240 4.0(13 17 34 V+1 42 -170 220 6.0 1 29 6NV +1 vT -1020 15.0 13.0
11 17 34 0-2 aA 100 220 6.0(24 6 24 V+2 2 -170 220 6.0 8 22 6NV +1 45 -1020 15.0 13.0
22 6 240-1 3 50 18.0 10.0(25 5 24 V+2 48 -170 220 6.0(12 18 6NO+1 vJ -1020 15.0 13.0
27 1 4e V-1 vA 50 18.0 10.0|19 11 24 V+3 ¢2 -200 16.0 12.0(14 16 6NO+1 a5 -1020 15.0 13.0
29 28 44 O-1 v2 50 18.0 10.0(20 10 34 V+2 48 -200 16.0 12.0(19 11 6NO+1 &2 -1020 15.0 13.0
30 14 3v N-1 4Q -100 14.0 14.0(27 3 34 V+2 a8 -200 16.0 12.0(20 10 6NO+1 &5 -1020 15.0 13.0
12 16 3¢ O= v2 -110 9.0 19.0| 8 22 44 V= 48 -620 70 21.0{23 7 6NO+1 44 -1020 15.0 13.0
19 9 3e V= vA -110 9.0 19.0|12 18 44 V= 48 -620 70 21.0|25 5 6NO+1 &5 -1020 15.0 13.0
20 8 3¢ 0= v2 -110 9.0 19.0|14 16 44 V= 48 -620 7.0 21.0|27 3 6NV +1 vT -1020 15.0 13.0
26 2 3¢ 0= v8 -110 9.0 19.0|21 9 4a V= v5 -620 7.0 21.0|28 2 6NO+1 %6 -1020 15.0 13.0
325 26 0+2 v2 -130 3.0 25.0|23 7 44 V= 48 -620 70 21.0| 4 26 INV= &6 -1520 2.0 26.0
18 10 2¢ O+2 8 -130 3.0 250|128 2 44 V= 48 -620 70 21.0{24 6 7NO= *5 -1520 2.0 26.0
24 4 3v N-3 +Q -300 0.0 28.0| 4 26 44 V+1 42 -650 0.0 28.0[30 15 7NO= 45 -1520 2.0 26.0
31 49 Basta kontrakt 32 4 E1043 Basta kontrakt 33 4 ED742 Basta kontrakt
Syd vK3 4v V D -1 100 Vast vD763 34 N =140 Nord v K104 3v O =-140
NS + KKn107 oV + KKn10 Ingen + K102
#EKKn1052 & ¢ v & NT £94 & ¢ v & NT #32 & ¢ v & NT
4 K8543 &Kn7 N 107 3 7 5 4 Kn76 a2 N556 98 41095 4KKn N53 364
v 97 vEDKn6542 S 9 7 3 6 5 v Kn5 v K9842 S556 97 vE83 v D762 S533514
¢ED532 +6 03596 6 ¢ E65432 ¢ D8 O7 7745 ¢ EKn83 ¢ D754 O 8 109 6 8
*7 #843 V35966 «D8 #EK1073 V78745 #ED6 *K98 vV 8 109 7 8
4 ED1062 4 KD985 4 863
v 108 vE10 v Kn95
+984 ¢ 97 +96
«D96 #Kn652 #Kn10754
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
13 19 3NN+1 vA 630 280 00|30 16 3vDO-3 +9 800 280 00|29 5 4v0O-2 43 100 28.0 0.0
30 16 5vDO-2 %6 300 2600 20|21 11 44 S= vlJ 420 260 20| 1 4 3NO-1 43 50 220 6.0
15 17 44 S+1 vA 150 240 40(13 19 34 S+1 ¢A 170 21.0 7.0(10 24 5¢ V-1 &3 50 220 6.0
29 3 4v 0-2 vT 100 220 6.0(14 18 24 S+2 vJ 170 21.0 70|22 12 3NO-1 48 50 220 6.0
2 14v0-1 *6 50 19.0 9.0|15 17 34 N+1 vJ 170 21.0 7.0|23 11 3NO-1 43 50 220 6.0
24 8 4v O-1 v8 50 190 9.0(24 8 34 S+l vJ 170 210 70(26 8 3NO-1 48 50 220 6.0
28 4 3v 0= *6 -140 16.0 120| 2 1 34 S= vlJ 140 13.0 15.0|15 19 3¢ V= &3 -110 15.0 13.0
9 23 3y O+l 6 -170 12.0 16.0| 5 27 34 S= vlJ 140 13.0 15.0(30 17 2v O = 43 -110 15.0 13.0
14 18 3vy O+1 &6 -170 120 16.0(25 7 34 S= v] 140 13.0 15.0| 6 28 2v O+1 ¢9 -140 10.0 18.0
25 7 3vO+1 &Q -170 12.0 16.0(28 4 34 S= vJ 140 13.0 15021 13 2v O+1 43 -140 10.0 18.0
20 12 24 S-2 v5 -200 70 21.0| 9 23 3vO-1 oK 100 70 21.0|27 7 3vO= 43 -140 10.0 18.0
22 10 3NN-2 aJ -200 7.0 21.0(22 10 4v O-1 4K 100 70 21.0{25 9 3v O+1 43 -170 6.0 22.0
5 27 5& N-3 +6 -300 40 240|20 12 34 S-1 vlJ -50 3.0 250| 3 2 4v 0= a4 -420 2.0 26.0
26 6 34S-4 v9 -400 2.0 26.0|29 3 44 S-1 vlJ -50 3.0 25.0(|14 20 4v O= 43 -420 2.0 26.0
21 11 4¢DN-2 6 -500 0.0 28.0|26 6 2¢ V= 4 A -90 0.0 28.0|16 18 4v O= 48 -420 2.0 26.0
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34 4987543 Basta kontrakt 35 aKn Basta kontrakt 36 4 Kn9 Basta kontrakt
Ost v 82 2NT O =-120 Syd v 954 4¢ S =130 Vast vED75 5¢ N =650
NS ¢+ D2 oV + E1098742 Alla + EKKn9
#Kn52 & ¢ v & NT #53 & ¢ v & NT #KD2 & ¢ v & NT
& Kn « KD106 N456 765 4D1062 & E875 N 8 104 4 4 4 E1085 4 D7432 N 1110117 10
vKKn97 v43 S456765 vDKn87 v EK1062 S 8 104 4 4 vKn94 vK3 S 1110117 10
¢+ Kn9864 ¢ K5 0887 6 8 + D5 ¢+ K 043877 + D85 ¢ 10642 02326 2
*K43 #D10876 V87 6 6 8 *876 #DKn9 V32777 &#Kn95 %86 V23262
aE2 & K943 » K6
v ED1065 v3 v 10862
+ E1073 + Kn63 +73
»E9 #EK1042 #E10743
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
1 4 INS= *4 90 280 00(15 21 4¢DN= ©vA 510 280 00| 7 29 4vS+2 v4 680 270 1.0
16 18 24 N-1 &7 -100 25.0 3.0(11 25 4vDO-2 #A 500 260 20(22 14 4v S+2 v4 680 270 1.0
23 11 24 N-1 *7 -100 25,0 3.0(26 10 4¢v O-3 *K 300 240 40|11 25 4v N+1 a2 650 220 6.0
3 2 34 N-2 &T -200 17.0 11.0(30 18 3v V-2 &5 200 220 6.0(27 9 4vy N+1 a2 650 220 6.0
14 20 2v S-2 45 -200 17.0 11.0( 7 29 3¢ N+2 vA 150 18.0 10.0(30 18 4v S+1 v4 650 220 6.0
15 19 34 N-2 *6 -200 17.0 11.0(22 14 4¢ N+1 vK 150 180 100| 1 6 4v S= v4 620 12.0 16.0
22 12 29 S-2 aJ 200 17.0 11.0(27 9 4¢ N+1 vA 150 18.0 100 2 5 4vy N= &8 620 12.0 16.0
25 9 2vS-2 *6 -200 17.0 110( 4 3 3v0O-1 &K 100 11.0 170 4 3 4y N= 8 620 12.0 16.0
27 7 24 N-2 *7 -200 17.0 11.0(17 19 3v O-1 *A 100 11.0 17016 20 4v N= &8 620 12.0 16.0
6 28 2¢v S-3 aJ -300 6.0 220|123 13 3# V-1 &5 100 11.0 17.0(17 19 4y N= a2 620 12.0 16.0
21 13 34 N-3 v4 -300 6.0 220|28 8 3v V-1 &A 100 11.0 17.0(23 13 4y N= ¢+ 4 620 12.0 16.0
26 8 2vS-3 aJ -300 6.0 220 1 6 5¢DN-1 ¢K -100 50 23.0|26 10 4v N= a2 620 12.0 16.0
29 5 3vS-3 aJ -300 6.0 22.0(24 12 5¢DN-1 ¥vA -100 50 23.0|15 21 3NN= a2 600 3.0 25.0
30 17 44 N-3 v4 -300 6.0 220 2 5 2vV+l & -140 1.0 27.0|24 12 3NN= a2 600 3.0 25.0
10 24 44 N-4 *6 -400 0.0 28.0|16 20 3v V= aJ -140 1.0 27.0|28 8 4v S-1 a2 -100 0.0 28.0
37 a72 Basta kontrakt 38 4 Kn9732 Basta kontrakt 39 4872 Basta kontrakt
Nord v EKD632 64 V =-980 Ost vE 4¢ O =-130 Syd v 953 5v V =-650
NS + D10653 ov +9 Alla + EDKn54
»- & ¢ v & NT #EKDKNn74 & ¢ v & NT +D6 & ¢ v & NT
486 4EDKn93 N 2 7 8 1 4 & K6 « E1084 N9 36384 4 E9 & KKn6 N37 266
vKn984 v- S26814 v Kn106 v 9754 S9 3684 v 1074 v ED862 S37 266
¢E842 ¢ KKn O 116 4 119 ¢ ED108763 ¢ K542 O 2 105 5 4 2 49876 O 106 116 7
#KD6  #EKNn953 V 116 4 129 +10 8 V 2 105 5 4 #K1098732 #E V 106 116 7
K104 D5 «D10543
v 1075 v KD832 v KKn
+97 ¢+ Kn + K103
#108742 #96532 #Kn54
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 6 6&V-1 vA 50 270 10| 2 7 44N= 2 130 280 00| 3 8 3NO-1 45 100 260 20
17 21 6#0-1 v5 50 270 10| 3 6 5#N-1 + K -50 220 6.0|18 22 INV-1 +Q 100 26.0 20
12 26 3 0= +6 -110 240 40| 5 4 44N-1 2 50 220 6.0|29 11 3NO-1 +3 100 260 20
30 19 34 O+3 ¥5 -230 220 60| 8 1 54S-1 ¢ A -50 220 6.0|25 15 3&V= *A -110 220 6.0
2 7 44 0+1 ¥5 -450 14.0 14.0(16 22 4v S-1 *A 50 220 60| 4 7 3#V+2 48 -150 19.0 9.0
16 22 44 O+1 v5 -450 140 140(24 14 54 N-1 ¢*4 50 220 6.0(28 12 3&V+2 42 -150 19.0 9.0
23 15 44 O+1 v4 -450 14.0 14.0(23 15 44 N-2 +6 -100 13.0 150 6 5 3v O+1 42 -170  14.0 14.0
24 14 44 O+1  ¢9 -450 14.0 14.0(25 13 44 N-2 *4 -100 13.0 15.0(19 21 2v O+2 43 -170  14.0 14.0
25 13 44 O+1 ¥5 -450 14.0 14.0(28 10 5#S-2 ¢ A -100 13.0 150(30 20 3y O+1 ¢3 -170  14.0 14.0
27 11 44 O+1 ¢9 -450 14.0 14.0(29 9 34 N-2 &6 -100 13.0 15.0(13 27 3v O+2 43 -200 9.0 19.0
29 9 44 O+1 ¢9 -450 14.0 14.0(30 19 4e¢ V= *K -130 8.0 20.0|26 14 2vy O+3 45 -200 9.0 19.0
18 20 44 O+2 v6 -480 50 23.0|12 26 44 N-4 *4 -200 6.0 22.0|24 16 34 S-3 v4 -300 6.0 22.0
28 10 44 O+2 T -480 5.0 23.0(27 11 44 N-5 ¢+ K -250 40 24.0| 1 10 4v O+1 43 -650 2.0 26.0
8 1 5¢vDS-2 48 -500 2.0 26.0|17 21 5¢ V= vA -600 20 260| 9 2 4v O+l 45 -650 2.0 26.0
5 4 5&DV= vA -550 0.0 28.0(18 20 3¢DO= YA -670 0.0 28.0|17 23 4v O+1 &5 -650 2.0 26.0
40 4942 Bésta kontrakt 41 492 Bésta kontrakt 42 & D52 Bésta kontrakt
Vast v KDKn1063 74 V D -4 800 Nord v D98 54 O =-650 Ost v EKn765 5¢ S =650
Ingen + Kn65 ov + KD42 Alla +E
+10 & ¢ v & NT #K1082 & ¢ v & NT »EK86 & ¢ v & NT
4 K10863 & EDKn75 N 116 133 8 4E104 4DKn8653 N 5 6 2 2 2 41094 4 KKné6 N9 6 11109
v2 v7 S 116 133 8 vK104 v EKn65 S56122 v K10 va S 9 6 11109
+KD10 497432 0170965 +1073 46 08 7 11118 ¢+ KD953 #Kn10872 O 4 7 2 3 3
*K754 #83 V170295 #E753 #D6 vV 8 7 11118 +D74 #Kn953 V47233
a- 4 K7 4 E873
v E9854 v732 v D9832
+E8 + EKn985 ¢+ 64
#EDKn962 *Kn94 #102
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
17 23 7vDN= &A 1770 280 00| 4 9 Pass 260 20| 1 12 54DO-4 2 1100 28.0 0.0
1 10 6vDS+1 43 1310 25,0 3.0|18 24 Pass 26.0 20|25 17 4v N+2 a5 680 260 20
13 27 6vyDS+1 3 1310 250 3.0(29 13 Pass 260 20| 2 11 4vy N+1 ¢ 650 17.0 11.0
3 8 6y N+1 47 1010 210 7.0(27 15 34 O+1 &4 170 220 6.0 4 9 4y N+1  ¢J 650 17.0 11.0
26 14 6v N+1 A 1010 21.0 70| 1 12 44 O= ¢ A -620 17.0 110 7 6 4v N+1 7 650 17.0 11.0
24 16 6y N= s A 980 170 11.0(10 3 44 O= &4 -620 17.0 11.0(14 28 4y N+1 ¢J 650 17.0 11.0
29 11 6vy N= 4 A 980 17.0 11.0(14 28 44 O= ¢ A -620 17.0 11.0(20 22 4y N+1 ¢J 650 17.0 11.0
4 7 5v N+2 &A 510 11.0 17.0|25 17 44 O= ¢ A -620 17.0 11.0(26 16 4y N+1 +J 650 17.0 11.0
6 5 5vyN+2 &8 510 11.0 170 2 11 44 O+1 v2 -650 6.0 22.0|27 15 4v S+1 ¢K 650 17.0 11.0
25 15 5v N+2 %6 510 11.0 170 5 8 44 O+1 w7 -650 6.0 22.0|29 13 4v S+1 ¢K 650 17.0 11.0
28 12 4vy N+3 &A 510 11.0 1701 7 6 44 O+1 ¢A -650 6.0 220| 5 8 4v N= +J 620 6.0 22.0
30 20 64aDV-3 ¢Q 500 6.0 22.0(19 23 44 O+1 +A -650 6.0 22.0|10 3 4y N= +J 620 6.0 22.0
18 22 54DV -2 &T 300 40 24.0|20 22 44 O+1 v2 -650 6.0 22.0|19 23 4y N= ¢J 620 6.0 22.0
9 2 5eV-2 vK 100 20 26.0|26 16 44 O+1 7 -650 6.0 22.0|18 24 4y N-1 +J -100 1.0 27.0
19 21 54 V-1 vK 50 0.0 28.0[30 21 44 O+1 &6 -650 6.0 22.0|30 21 5vS-1 ¢+ K -100 1.0 27.0
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